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Q.1.     P = 60 – 2Q,    C(Q)= Q2 + 20.   For this information,

a. What are the profit-maximizing price and quantity for perfectly competitive firm?

b. What is the consumer surplus for perfectly competitive firm?

c. What is the producer surplus for perfectly competitive firm?

Q.2. You are the manager in a perfectly competitive market. The price is in your market is $100. Your total cost curve is C(Q)= 5000 - 100Q+ 5Q2
What are the profit-maximizing price and quantity for this firm?     

Q.3.    

	Quantity Sold          
	Price per unit       
	MR
	MC  

	0
	20
	0
	10

	1
	19
	20
	15

	2
	18
	19
	18

	3
	17
	16
	16

	4
	15
	14
	12


From this information, what are the profit maximizing price and quantity for perfectly competitive firm?

Q.4. Suppose the cost function for a firm is given by C(Q)= 800+50Q2. If the firm sells output in a perfectly competitive market and other firms in the industry sell output at a price of $100, what level of output should the firm produce to maximize profits or minimize losses? What will be the level of profits or losses if the firm makes the optimal decision?          

Q.5. Suppose the cost function for a firm is given by C(Q)= 1500+10Q2. If the firm sells output in a perfectly competitive market and other firms in the industry sell output at a price of $200, what level of output should the firm produce to maximize profits or minimize losses? What will be the level of profits or losses if the firm makes the optimal decision?
Q.6. If the MC and AVC for a competitive firm are given by MC = 2 + 4Q and AVC = 2 + 2Q. How many units of output will it produce at a market price of $10? At what level of TFC will this firm earn zero economic profit? 
Q.7. For a competitive industry the short-run marginal cost curve is given by MC = 200 + .3Q. The demand curve faced by the industry is given as P = 400 - .1Q. What is the producer and consumer surplus in the entire market? 
Q.8. Suppose there is a perfectly competitive industry where all the firms are identical with identical cost curves. Furthermore, suppose that a representative firm’s total cost is given by the equation TC = 100 + q2 + q where q is the quantity of output produced by the firm. You also know that the market demand for this product is given by the equation P = 1000 – 2Q where Q is the market quantity. In addition you are told that the market supply curve is given by the equation P = 100 + Q. 
a. What is the equilibrium quantity and price in this market given this information? 
b. What is the firm’s profit maximizing level of production and profit at this market equilibrium?
c. Is this a short-run or long-run equilibrium? Explain your answer.

d. Given your answer in part (b and c), what do you anticipate will happen in this market in the long-run?

e. In this market, what is the long-run equilibrium price and what is the long-run equilibrium quantity for a representative firm to produce? Explain your answer.

Q.9 Consider a perfectly competitive market in the short run. Assume that market demand is

P = 100-4QD  and market supply is P=Qs. Denoting firm level quantity by q, assume TC=50+4q+2q2
a) What is the market equilibrium price and quantity?
b) How many firms are in the industry in the short run?
c) Do firms make a profit or loss in the short run, and how much are these profits/losses?
Q.10. The market for study desks is characterized by perfect competition. The total cost and marginal cost functions for the representative firm are given by the following equations: TC = 2qs 2 + 5qs + 50 MC = 4qs + 5 Suppose that the market demand is given by: PD = 1025 - 2QD Note: Q represents market values and q represents firm values. The two are different.
a. Determine the equation for average total cost for the firm.

b. What is the long-run equilibrium price in this market? 

c. What is the long-run output of each representative firm in this industry?
d.  When this industry is in long-run equilibrium, how many firms are in the industry?
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